INPUT GROUP REFERENCE PLANE

PTO ADAPTER MOUNTING FACE

LEFT MOUNTING BRACKET FACE

RIGHT MOUNTING BRACKET FACE

4 H MM B

LIVE PTO PUMP MOUNTING FACE

NOTES:
A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY EVEBOLTS FORLIF TING MARINE
TRANSMISSION ONLY. (2 EYEBOLTS, T
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC ON BOTH EYEBOLTS TO LIFT
CONTROL SYSTEMS OR MODULES. MARINE TRANSMISSION ONLY — — — —
B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PUSH TO ENGAGE PRIMARY CLUTCH.

2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED |
POSITION, PULL TO ENGAGE SECONDARY CLUTCH.

C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN THE CENTERED POSITION AND
OPEN WHEN LEVER IS ACTUATED FROM CENTERED POSITION.
2. CURRENT =20 AMP MAX.
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING.

ENGAGES SECONDARY

. SHAFT CLUTCH
NOTES: SEE NOTE "A" \

ALL POINTS AVAILABLE FOR TESTING ARE CODED <:>

WATER OUTLET FOR
HEAT EXCHANGER T
M42x2.0 METRIC PORT

CONFORMS TO ISO 6149
TIGHTENING TORQUE 108+10 Nm

18.7 —= (== 30.0 WATER INLET FOR/

HEAT EXCHANGER
6.0 - M42x2.0 METRIC PORT

’ CONFORMS TO ISO 6149
TIGHTENING TORQUE 108+10 Nm

ENGAGES PRIMARY
SHAFT CLUTCH
SEE NOTE "A"

MAIN PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm
CONNECT OIL PRESSURE
GAUGE LINE HERE.

%

PRIMARY CLUTCH (SECOND)
PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm

!

SECONDARY CLUTCH (SECOND)
PRESSURE PORT

M12x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 16+1.5 Nm

&=

SECONDARY CLUTCH (FIRST)
PRESSURE PORT

©332.0
280.0 REF.
$»174.988+0.012

]

M14x 1.5 METRIC PORT

®23.0 THRU CONFORMS TO ISO 6149 LUBE PRESSURE PORT
8 HOLES, EQUALLY SPACED SECTION A-A TIGHTENING TORQUE 20+2 Nm M18x1.5 METRIC PORT
CONFORMS TO ISO 6149
@ TIGHTENING TORQUE 34+3 Nm

PRIMARY CLUTCH (FIRST)
PRESSURE PORT

OIL LEVEL GAUGE BREATHER M14x 1.5 METRIC PORT
LUBE (AUXILIARY) CONFORMS TO ISO 6149

M27x2.0 METRIC PORT
SEE NOTE "C" TIGHTENING TORQUE 20+2 Nm

CONFORMS TO ISO 6149
SEE NOTE "B"

TIGHTENING TORQUE 75+7 Nm

0.0 TEMPERATURE PORT
: M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm
11— TEMPERATURE PORT LUBE (AUXILIARY)
CONFORMS TO 1O 6149 . WH6xt5 METRIC PORT 5
CONFORMS TO I1SO 6149 -
TIGHTENING TORQUE 20+2 Nm (AUXILIARY LUBE SUPPLY %
INLET. SEE HYDRAULIC
DIAGRAM.)
TIGHTENING TORQUE 24+2 Nm
| 1 Il SAE J744 127-2/4, 32-4 OR 38-4
LIVE PTO. REFERENCE 1017177
; FOR ADDITIONAL INFORMATION. |
Hi ) i \
I = | ‘ ‘ /
o 1 OIL FILTER
o 24 mm CLEARANCE REQUIRED
e TO REMOVE FILTER CANISTER.
i | ' TIGHTEN FILTER AN ADDITIONAL E
I T ~— 1/2 OF TURN AFTER FILTER
‘ o LL PRMARY GASKET MAKES CONTACT
0
10 SHAFT ¢ o
o 4
o 1 S
© ™
O- A vl
w0
& ‘ OIL STRAINER
FOR USE WITH OPTIONAL
. TRAILING PUMP - B |
I § |
T o : =)
g L o g -8 i
% S © | o E :
o | 8 EI
| S \ , S |
‘ I ( A — — B [ =
| / | :-:
L PRESSURE PORT | : :
I:/Igﬁ)éBL.(é STI{lJRS’EEAAI\DL,LGs%g)DHEOELI:’ES f NN M14 X 1.5 METRIC PORT N
, : N CONFORMS TO ISO 6149
8 PER SIDE FOR MOUNTING UNIT. / N TIGHTENING TORQUE 20+2 Nm
USE 8.8 PROPERTY CLASS QUALITY OIL STRAINER \ $8§| tjlﬁlé VF\,,L,JT'\TPOPT,ON AL - [ : |
CAPSCREWS PER ISO 898-1 AND TORQUE TO ~_ L g, ! |
S574 OR SERVICE MANUAL VALUES E'LFAQEI%TE'%%%TCI)C%JJPUT 6.0 i /
(R.H. ENGINES DRIVING I ) -
sakj;’ L(JET THRU PRIMARY CLUTCH) = 250 N |
\ o S
\TEMPERATIURE PORT
M14 X 1.5 METRIC PORT B 500.8 B
CONFORMS TO ISO 6149 :
AUXILIARY LUBE SUCTION PORT OIL DRAIN TIGHTENING TORQUE 20+2 Nm
FLANGE SIZE 38 M33x2.0 METRIC PORT FOR USE WITH OPTIONAL
#3740 PER 1596102 (CODE 61) CONFORMS TO ISO 6149 TRAILING PUMP
: x1.75, 33. TIGHTENING TORQUE 88+8 Nm
15 mm CLEARANCE REQUIRED @
TO REMOVE PLUG
3
Ela 4]
- 440.0 - 440.0 -
®»24.5 THRU APPLICABLE MODELS:
12 HOLES BASED MGX-6690SC PER 1020674
ON 14 HOLES MGX-6848SC PER- 1020675 Rév N%XXE{;%gQG 03/1Di/TZE013
EQUALLY SPACED EQUIPMENT SHOWN: - — .
-1017769A FREESTANDING INPUT HUB FIRST USE ASSEMBLY: : : :
- 1020941L GP VALVE WITH EC050 CONTROL MODULE FIRST USE MODEL: e ° @D i,‘ THIRD ANGLE 03/12/2013 @
- RAW WATER HEAT EXCHANGER SIMILAR TO: W' g’ HEATTREAT A 4 RACINE W1 53403 - USA
@3250 BC = SAE J744 127-2/4, 38-4 OR 32'4 LlVE PTO UNLESS OTHERWISE SPECIFIED ’ DRAWN.BY: :
METRIC -~ T 051 498
\AOTICE THIS PRINT CONTAINS PROPIETARY NFORVATION AND S Xx 1073 DESCRIPTION: LG
VIEWB-B renone WINDISC INCORPORATED | MEANGLE AL TRANGES INSTALLATION RPPROVED 8. (DG [SHEET
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-6690SC/MGX-6848SC ALC size: - AQ 1 0OF 1 -

J I H G F E D C | B | A




	Sheet1
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7
	Section View A-A
	Drawing View10
	Drawing View11


